
TRIVIA #7 

In a frame of Snooker, the scores are level and only the Pink and Black are left on 

the table. The Pink ball is hanging over the edge of one pocket and the Black is 

hanging over another one.  

Player A. pots the Pink and the referee calls 'six'. However player A loses the frame 

without making a Foul. How does this happen?  

There is no trick. There was no disqualification or conceding. 

 

Answer 

Player A potted the pink and when the cue-ball came to rest it was touching the 

black. 

Referee called touching ball – Player A attempted to pot the black by playing away & 

coming off a cushion but missed leaving his opponent to pot the black and win by 

one point. 


